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BFXF IR KR

Rank FrEREIE 1[e] 8 A 2 B AERE R Winner
1 71 Team Win BB Bt (1]
B & it (1]
2 365 mRERAE AR A 62 62
B & it [1]
3 293 £H# TS kA 61 60
RE—5
4 420 7y VRBRT = ZAH—T > R#E -5 61 62
AR v [3]
5 113 BEAREA VY& —F Y aFLTZRALyY AR LA [3] 36 63 10-5
B LA [3]
6 180 GODAIR K=Y T7HhFT I — TE =8 60 75
AR LA [3]
7 197 MAT Tennis Academy HTH & 6363
HTH &
8 130 7m - 71— RF 36 62 10-7
a3 EK [2]
9 210 F=RS v K EE 57 75 10-3
75k Bl [WC]
10 300 BHAKE 5k L [(WC] 60 62
7 AL [WC]
11 176 KMGT =X R 7 — L AN B 60 75
EEE AE (4]
12 127 Smile Tennis College &k 5 (4] 62 63
BH RK (2]
13 204 BAKEZE B fE—HR 62 26 11-9
¥ BE—BR
14 522 RRERKF FES 6363
B EK [2]
15 508 ¥ X —ZAA Y RT7FZRARY—IL 15| K& 63 61
aFHREA (2]
16 88 R AkF B EK (2] 6163
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BF VIR FFE

Rank BEISIEEN 1@ 8k 2[m]#f, 3[m
1 365 HHEERAY AE D [1]
HE EE [1]
2 Bye
HE B [1]
3 103 FLrET=RV57 XM E:3) 40 53
AW =3
4 436 BEOR LT =0T 7 mE i [5] 54(4) 40
5 395 HRRILT =X AL v B A (2]
)1 A (2]
6 Bye
A8 & (7]
7 743 MEA—>TF=ZRo 57 MEH i 40 40
AR K (7]
8 522 HREFRKE AR i [7] 40 42
9 409 tennis-peak w8 2 (3]
AR BB
10 748 v UV BBEART AN —T v~ #HAR RK 24 42 10-7
15l K& [6]
11 AN e Et 40 42
15| K& [6]
12 508 Y& —XA VKT TZRRI—IL 5| K& [6] 40 40
13 420 7y VMBRT = AH—T £E —5 (4]
% —5 [4]
14 LAy TAY R T7TZART —IRE thE BBX 41 41
£5E —5 [4]
15 CLOVER TENNIS ACADEMY SH I8 14 40 10-7
SH IKE
16 573 ESSC #A 1= [8] 54(3) 42
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TF VTR KE

Rank FrERE 1[a]#k AL R AE R BN Winner
1 113 2N TFZRI57 FEE T2 (1]
PR T (1]
2 Bye
%k BK
3 PaTIA Y RTTFZR H #F 26 76(1) 13-11
HEE B
4 Wish¥ =22 57 HEE SR 62 62
Bl 0 (3]
5 139 IHRFE RS Bl 0ZE (3] 36 64 10-8
21k 0z [3]
6 213 HERFEHETSR ML FEsESE 46 75 10-8
Bl s (3]
7 396 FrLvPv—X #I| B EE 60 60
B BT
8 BWABXANS VY RFZR057 N RE 64 46 10-0
1810 3 [3]
9 BA7A-E— T LA 18/ F1) 62 75
BH R
10 196 SUEAZ BBH 5 60 61
B iR
11 226 BHRE KH ¥ 6363
KH ¥
12 142 HREREAE B &% (4] 6126 10-6
B iR
13 334 WY T T 1 SR 6161
=iE Z
14 253 EREERAZ =i 2 62 60
=i 2
15 Bye 7563
NEF 2R, [2]
16 119 F=221=/1"—2X NP A (2]




